
Division challenge  - division by grouping  Year 2  1.6.20 

5 people can fit into 1 car. How many cars do you need for 40 people? 

Can you write the matching number sentence? 

 

 

 

 

 

3 sweets can fit in 1 jar. How many jars will you need for 15 sweets? 

Can you write the matching number sentence? 

 

 

 

 

 

10 cookies can fit on 1 tray. How many trays will you need for 50 cookies? 

Can you write the matching number sentence? 

 

 

 

 

 

2 children can fit on 1 table. How many tables will you need for 12 children? 

Can you write the matching number sentence? 

 


